IGATE PAPER & INTERVIEW - 06 OCT 2007 - CHENNAI
Hi 

I’m Suresh M, doing my final ECE in Rajalakshmi Engg College & got placed in i-Gate global solutions on 6th Oct 2007 thru the campus drive in our coll.

i-Gate has revised its recruitment procedure:

* Aps (15 Qestions to be answered in 30 min, cut off ranges from 8 or 9, no options & no rough sheet to do calculations)

* Tech (Non IT probably from C, C++, Area of interest of your choice in resume, basics of resp dept subjects, Simple programs.. & for IT its purely on their dept subjects and programming skills


.)

* HR (Be cool and confident in your answers.. ensure eye contact.. bear a smile on your face.. even if not sure of any answer, try to give an attempt..) 

Aps: Around 800 took part in the campus drive program from 8 different colleges, from which 90 were shortlisted.

Few questions that i remember are
* If 100 meters long ribbon is cut into 1 meter of length in 1 min, then how along wil it take to cut the entire length (Ans 99min)

* If one fifth of boys are running in a circular path behind arun & 5/6 th in front of him, then how many were running. (Ans 30) data not sure.

* If 2 trains starting at two different points, in opp directions say banglore & chennai stations, then if train from banglore travels at 60 kmph and chennai train travel at 40kmph, when both the trains meet each other at the time of meeting, the trains will be nearer to which station banglore or chennai (Ans chennai)

* Cow can graze a portion of grass land, (dont remember the data Ans 140 cows)

* Population after 2 years at 20% per annum with p value given (say 2,50,000)(Ans 3,00,000)

* Logic boolean function check which is wrong

* Sides of triangle is in 4:3:2, then find the smallest angle (Ans 40)

* Similar types of questions, just go thru the short cut methods and refer RS Aggarwal concepts, more than enough. Dont try to copy bcos you have the possibilty of being questioned on those answers in furthur round.

Tech: 48 were shortlisted in this round.
* Just read the topics related to your dept thoroughly, about projects, accept if you dont know the ans to a question, but dont repeat it again and again. Try to give an attempt.

HR: 41 were placed
*HR people were to cool, they made me enjoy the moment, they were trying to be strict, so that they wud check our level of confidence, tolerence that we hav in us
* Also communication skills matters

Around 6.00 in the evening on 6th oct, they announced the results, luckily with god’s grace my name was there along with my friends. Thanks to all who helped me and my friends to get placed, see u there in i-Gate.
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Aptitude

Select the odd one

(a) January (b) February (c) Wednesday (d) November

Select the antonym of capture from the following

(a) attack (b) Release (c) condemn (d) None of the above


Find the antonym of autumn

(a) Spring (b) Winter (c) Summer (d) None of the above

One skirt requires 3.75 yards of cloth. How many skirts you can make from 45 yards?
Ans: 12 skirts

Last month of an year
(a) January (b) February (c) December (d) November

Is the meaning of Client and Customer,
(a) same (b) contradictory (c) no relation

Is the meaning of Canvas and Canvass,
(a) same (b) contradictory (c) no relation

Is the meaning of Ingenious and Ingenuous,
(a) same (b) contradictory (c) no relation

Is the meaning of Credible and Credulous,
(a) same (b) contradictory (c) no relation

Select the odd one out.
(a) 1/4 (b) 1/3 (c) 1/6 (d) 1/18

Select the least from the following.
(a) 0.99 (b) 1 (c) 81 (d) 0.333

Find the next number in the series. 1, 0.5, 0.25, 0.125
Ans: 0.0625

One do llar is saved in one month. Then how much dollar is saved in one day?
Ans: 1/30 =0.0333$

Y catches 5 times more fishes than X. If total number of fishes caught by X and Y is 48, then number of fishes caught by X?
Ans: 8

If a train covers 600m in 0.5 seconds, how long it will cover in 10 seconds?
Ans: 3000m = 3km

The girl's age is twice that of boy, if the boy is four years old. After four years the age of the girl is
Ans: 12 years

Sister's age is twice than that of the brother. If the brother's age is six, what is the sister's age after two years?
Ans: 14 Yrs.

Two lemons cost 10 cents. Then one and a half dozen cost
Ans: 90 cents

A clock is late by 1 minute 27 seconds in a month. Then how much will it be late in 1 day?
Ans: 2.9 seconds

Opposite of Remote?
(a) Far (b) Near (c) Huge (d) Village

Statement A: All great men are ridiculous; Statement B: I am ridiculous ; Inference : I am a great man;
(a) True (b) False (c) Not clear

Statement: Normal children are active; Inference: All children are active;
(a) True (b) False (c) Uncertain

Next number in the series 1, 1/2, 1/4, 1/8 ?
Ans: 1/16

In 6 seconds a light flashes once. In one hour how many times it will flash?
Ans: 601 times

At 20% discount, a cycle is sold at a selling price of 2500 Rs. What is the actual price?
Ans: Rs. 3125

Statement A: A & B have same age; Statement B: B is younger than C; Inference : A is younger than C;
(a) True (b) False (c) Uncertain

A invests $12000, B invests $8000, C invests $6000 and they got a profit of $1200. How much share A got more than B and C?
Ans: 2/13 and 3/13

Technical Questions contain Electronics and Computer Science

Full form of TTL and CMOS

Which is a good conductor (Extrinsic or Intrinsic)

What are the different types of capacitors (Electrolytic, dielectric...etc)

Select a passive component from the following (four choices were there)

Minimum no. of lines required for communication using RS232

To convert 1's complement to 2's complement and vice versa

During which time we use 'size of' command.

Out of four choice we have to identify which is a macro.

There was one pointer _expression related question.

To find post fix _expression.

What type of operating system is unix
a)pre-emptive b)non-preemptive c)batch

Where we use DFD(Data flow design)
a)structural languages b)object oriented languages c)UML d)none of these

Name the error which occurs when we write on a page
a) segment fault b)permission fault c) page fault

A question based on the representation of an array in C An array whose elements are fn pointers which inturn returns a character
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1. Aptitude Test of 30 min and Questions were 15.
2. GD
3. Technical Interview.

Aptitude Questions are

1.) Mr. Yellow ,Mr. Brown and Mr. Green. They were wearing Tie of Yellow, Brown and Green Color. Mr. Brown said “We all r wearing Ties of color which do not match with our name”. One person says “Yes u r absolutely right” who was in green tie. Can U say which person wear the tie of which color?


2.) 5,14,33,52,__,__ (81,140)


3.) The angle in a triangle r in the ration ratio of 2:3:4. Can u find out the smallest angle of the triangle. (40)


4.) 4 white balls & 8 blue ball in the bucket 1 and in bucket 2 there were 4 white and 8 black balls. Find the probability of taking the white balls when one ball is drawn from each bucket. (either 2/3 or 1/3)


5.) Mother says to a boy to bring 9 marble from the market. But boy can bring only 2 marble at a time. Can you say how many trip to market the boy had to go to bring 9 marbles. (5)


6.) One fish tank is half full. After adding 10 gallons the tank is 7/8 of the tank. Calculate the capacity of the fish tank.(26.66)


7.) Mr. X, Mr. Y, Mr. Z collect Rs. 1,00,000 in the ratio of 2:3:5. Can U say how much extra money is given by Mr. Z than Mr. X? (30,000)


8.) One boy is having some coins and after adding 10z coin the boy is now having (5y-1) times of the coin he had at the beginning. Calculate the coins the boy had initially in terms of y & z. (2z/y)


9.) A shopkeeper gives a discount of 20% on the sale. By what percent he had to increase the S.P of the item so that after giving discount he got the price of the its C.P.


10.) A man holds 13th position from the first and 13th position from the last. How many participant were there in the completion. (25)


11.) A fashion designer and sold it to retailer at the profit of 40% and retailer sold it customer at a profit of 25%.Can u say how much extra money paid by the customer from the cost manufacturing. Calculate the price in percentage.


12.) A taxi driver charges 1.75$ for first quarter of mile and then charges 15 cents for each quarter. How much distance can be covered in 4.9$. (5.4 mile)


13.) Out of 170 baseball player 95 were right handed. Can u calculate the percent of players who were not right handed.


14.) 8 eggs were identical except one is lighter. How many times we have to weight to find out to find out the lighter. (3)


15.) Out of 35 students if the ratio of the girls to boys is 4:3. Then by what number the girls are more than boys. (5)



GD Topics:

1.) Should cold drinks be band in India or not.

2.) Westernization

3.) Reservation



Technical Interviews:

Questions related to C,C++, projects and general HR question…
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The selection procedure is:

1.Aptitude Test
2.GD
3.Technical and HR interview


Aptitude Test:
15 question no choices, no worksheet will be provided,no negative marks, u have to work in the space provided in the question paper
some topics are Time and Distance, Probability, Problems on numbers, Average, Age, Profit and Loss and some other topics in RS Agarwal.. that is enough
GD: The topic i recieved is "TRAFFIC", the GD was about 20 minutes, There were about 10 students in one GD and 5 of them got selected, the HR asked everyone to tell their views about the topic and then started the discussion. I have talked a few times only but at appropriate time, Just tell ur points that is enough, avoid unnecessary arguments. Just talk and dont be mum.
When the HR itself ask u to talk(during first few minutes), make use of that opportunity, in a GD we have to grab our chance, so when the chance comes make the best use of it.


Techinical and HR interview:
There were only 2 HR questions for me

1.Tell me about ur self

2.How u will be in iGate after 5 years
The remaining were only Technical questions, there were some question on
DBMS and some SQL queries
Java(Basics) and other Programming Languages
Be Honest, if u dont know about some topics admit that u dont know for all IT students it is a must that u will be asked questions on DBMS and SQL queries.
I have presented a paper and i have put that in my resume, so he asked about that paper also,if u have something like that please know everything in ur paper, this will also help u to divert the HR to a place where ur strong, Best of Luck . Some questions that i Remeber, i have put here

1. A goat is trying to climb a cliff of 60feet high, for a minute it climbs 3minutes up and slips 2feet at what time will it reach the top of the cliff?
Ans: At 58th Minute.

2. The sum of two numbers is 10 and the product of the two numbers is 20 what is the sum of the reciprocals of the two numbers?
Ans: 1/2
Let 2 numbers be x and Y
1/x + 1/Y = (x+y)/xy=10/20=1/2(ans)

3. A train is coming at some speed and the other train is coming in opposite direction with some other speed, a bird is flying in between the trains touching each end and the bird is also flying at some speed, what is the distance covered by the bird, when both trains meet each other?( I have forgetted the data )

4. A man has two children and atleast 1 girl child, what is the probability that both his children are girls?

5. A profit and Loss problem where the gain percentage with respect to Selling price is given we have to calculate the gain percentage with respect to the Cost price

6. There were some red balls and blue and green balls what percent of probability of selecting 6 balls out of which we have 2 balls of the same color.

7. some 6 digit number will be given with some digits missing and the full number will be divided by some other number and we have to find out the digits. I have got some 6 digit number 1s38s9(i dont know the exact number its just a model) and that number is divided by 36 find which number will be come in the place of s.
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Paper was not that tough.There were 15 questions to be solved in 30min.
No rough sheet was provided.Also no negative marking, but no options were given.that is u have to solve the questions and write the answer, no guess work possible.Cut off was 9 or 10 i think.They selectd very few for the second round.Outof 1,700 they selected only 170 for GD(2nd round).They made group of 10/11 for GD, and selected approximately 60 students for third/technical round.Final round ws HR..Finally they selected only 30.

But for apti prepare general topics like Avg,profitloss, time asd distance,time and work,si,ci,partnership, clocks, calender,probability,series,pipes and cisterns ,reasoing,number,hcf,lcm,permutaion and combinations.

Either refer R.S Agarwal or Pearson guide By Dinesh Khattar is more than enough.

Questions were not that tough but point was to save time.



1) one man sold two items at 20% loss and 20%profit.Net % loss/gain?
Ans In such cases always loss (20/10)^2= 4%loss.

2) series question :
I think no1 solved it
4,2,3,7.5,26.25,- ,-
Find the next two numbers.

3) Si questions was there,Given:principal=480,Rate=3.5%, Time=2 month 15 days
Find SI? =( 480*3.5*(5/2*12))/100
i.e take 2month 15 days as 2.5 month and conert into year and solve.

4) GHITZ is ....i dont remeber exactly but i remeber the concept

They replaced last with first, second last with sec,What i mean is A - Z
B- Y
c- x and so on.

5) 1/10 is how much of 3/4?
Ans (1/10)/(3/4)

6) 1/6 boys and 1/3 Girls ?What is ratio if children?
Ans 1/2 ie 1/6+1/3=1/2 = 50%

7) I n how much time 100km will be covered if a girl travels at 10km/hr and halts for 10min every 15km
Ans)100/10=10
10+(10*6)=11hrs
<!--[if !vml]--> <!--[endif]--> Probality of sundays in an ordinary year?
Ans)2/7

9) on eman walked 1/4,3 1/4,7 1/4,9 1/4 and other man walked 2/4,2 1/4, 2 2/3,3 1/4 kms.
Who walked more and by how much

10) number question,
Let number =10*x + y
Given: xy=18.

some more questions were there , ut icannot recall them, they were not that easy, but if u pracice pearson guide/R.S.Aggarwal well thenu can solve it.

Next Round Was GD

Made group of 10/11.In some they selected 4 members.But in many they selected only 1or 2 per group. In min they seleced only two including me. Topic was simple.they wanted every1 to talk.Also they made every1 to talk.So the topics were simple.But always allow others to speak.U should speak well and up to the point,but at the same time u should allow others to speak.Donot make it a fish market.APart from communication they also want to check that whether u can work in team or not?

Some topics
1) saddam should be hanged or not?
2) Pepsi should be banned or not?
3) mobiles vs landlines
4) house wife vs working
5) inda's poor performances in cricket

Next was techncial

1. Asked baisc things, quite lengthy
2. ASked question on DBMS,networing,
3. questions based on ur resume
4. Questions on ur final year project surely.
5. Diff b/w c++and java.
6. Some basic questions on core java.
7. Also told to write one program *
* *
* * *
and so on.......
All studnets were asked to write atleast one program (any language)
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The selection procedure is,
1.Aptitude Test
2.Technical
3.HR interview

G.D. IS NOT THERE.

Aptitude Test: 15 question no choices; A worksheet will be provided, no negative marks, u have to GIVE ANSWER in the space provided in the question paper Some topics are Time and Distance, Probability, Problems on numbers, Average, Age, Profit and Loss and some other topics in RS Agarwal.. that is enough

TOTAL STUDENT APPEARED: AROUND 800 WRITTEN CLEAR: 172 TECH. CLEAR: DON'T KNOW FINALLY SELECTED: 62 AND I M IN THOSE SELECTED STUDENT. THANKS 2 GOD. THERE R 2 BATCH FOR WRITTEN TEST. I M IN BATCH 1.

SOME APTI QUESTION R GIVEN BELOW WHICH I REMEMBERED:

1.541629 decoded as 624273. then 162937 decoded as _______.

2. Based on mathematics operation. + is division, - is multiply, * is add, / id divide. then 5+2*6/8-3 is________.

3. Time n work. a is 3 times better than b & do the work in 60 days before b. in how many days complete d work if they working together

4. If 6 parallel line is cut by another 5 parallel line, then how many parallogram r there.

5. ques. on probability like odds in favour r given & find d prob in favour.

6. in how many ways a no. of 2 digit can be formed using no. 1,3,4,5,7 , when repetition is allowed.

7. The ratio of boys & girls in class is 5:4. the ratio of girls studying math & physics is 3:1. find d %age of class comprise girl studying math.

8. Based on average (very simple)

9. if 20% discount then s.p. is 24. what is s.p. if discount is 30%

10. based on venn diagram(very simple)

11. based on simple interest.(again simple)

12. based on profit and loss.

I DONT REMEMBER D REST BUT THEY ARE VERY SIMPLE. THE CUT-OFF IS OF 8 MARKS AND I GOT 10.

NEXT ROUND IS TECHNICAL INTERVIEW.


Technical :

1. Brief introduction.

2. What is ur favourite subject.

3. How microprocessor work.

4. Which language u know.

5. What is pointer & advantage? Why we use it.

6. What is ur hobbies & asked ques. on that.

7. Why signal light in traffic signal is red.

8. ASKED A QUES OF APTITUDE FROM OUR WRITTEN TEST. JUST 2 SEE THAT YOU HAVE DONE IT TO URSELF OR NOT

9. Do u want 2 ask any question.

10. Thank you. plz wait outside.


HR interview:

1. Introduction.

2. Tell me what u knows about igate.

3. what's ur hobbies and asked ques on that.

4. ask me 2 sell a mineral water bottle & convince me 2 buy it

5. o.k. thank you.

HR is like formality but dont take it easy bcoz some stdnt eliminate in this round also.
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QUANTITATIVE APPTITUDE TEST:

Total 44 questions are there.
Refer R.S. Aggarwal

1. How many degrees hours hand rotate in 10 minutes?

2. 1/(10 power 18) - 1/(10 power 20) = ?

3. 0 < 1: Which is greater ? (1/(x square),1/x,x,x square)

4. c=a/b ; a-1=c What is the relation between a&b

5. N = ((8.42)**2)*(95. ....)/((0.982)*(64.....)**2) If N contains the first three digits as 988,Which of the following is the nearest answer (9.88,98.8,988,none)

6. The sum of 7 consecutive odd integers with 27 as the fourth number.

7. (66666666666666)**2 + 888888888888=?

8. 2486724...... Express it in product of 3 numbers.(The given number is not exactly correct. Choices are given. Very easy)

9. Radius of sphere is increased by 50%. By how much percentage is surface area is increased.

10. In which of the following , 2 as a common factor , can be eliminated.

Ans : log(x square)/log(y square) = log(x)/log(y)

Antonyms :

11. AUSPICISIOUS

12. REHALISHLY

13. & 14. - Sentence correction

15, 16 , 17 - Spelling Mistakes

18, 19 - Two Questions

6 letters are assigned certain numbers.
In each qusetion , 4 combination of digits are given . Of which , which gives a meaningful word. 20 & 21. - 4 sentences will be given in each question. Arrange them in logical order . 22. 5 straight lines are cut in a circle. A question regarding this. 

Reasoning :

a) If statement A alone is required
b) If statement B alone is required
c) If bothe statements A & B are required
d) Neither

23. Does Mr. Mathew give tution ?
A) MAthew is a teacher
B) In school, the teacher is not expected to give tutions.

24. There is no power cut in advanced country If T is a city, Is there power cut in that city?
A) Z is a advanced country
B) T ia a capital city of country Z

25. Tanzanians are in East Africa. Tanzanizns are good in either Education , Dance or Music
A) Tanzanians are good at Education
B) East Africa are good at dance & Music.

Remaining questions 26 - 29 are of the same type.

30. On onw day, 14 children are admitted in a school by their mothers. 2 are sisters, 3 are brothers,2 are brother and sister and 2 are twins. The rest are singles. How many mothers came?
(5 , 7, 9, 14)

31. Problem Cisterns & pipes.
It will take 8hrs to fill a cistern. But due to leak at the bottom, it take 10 hrs to full it. In how many hrs, th eful tank will be emptied because of leak.? 
(18,8,40,10)

32. Question regarding men & work
A does alone a work in 4 days
B does alone a work in 8 days
C does alone a work in 10 days
A & B together ------
C & B together ------

33. In 3.5 Kg rod , there is 74% silver. If it is alloyed with a 0.5 Kg rod, the % of silver goes p to 84%. The percent of silver in 0.5 Kg rod?

34. Two chords of lengths 2L1 and 2L2 are drawn in a circle. Their lengths are inversely proportional to the straight distance joining the centre. Find the radius of circle.

35. A Kg of tea costs Rs 49.50 . But the supplier gives 10 gms less for every Kg he sold. What is the actual cost.

A question on transportation table. 5 questions were given.

A B C D E

-------------------------------------------------------
A X 12 8 20 6
-------------------------------------------------------
B 12 X 12 5 9
-------------------------------------------------------
C 20 8 X 4 7
-------------------------------------------------------
D 3 15 6 X 10
-------------------------------------------------------
E 12 5 8 3 X
-------------------------------------------------------

A,B,C,D,E denote the stages.
X denote the start of the stage.
The bus goes from A to E and E to A woith back stops at B,C, & D
For each the charge is Rs.0.70
The numbers in the table are how many passengers are there in the bus upto that stage.( the numbers given the table are not correct)

36. Total no. of passengers in onward journey

37. Total amount in the conductors bag just before the bus reaches the stage C

38. How many Rs. 1.40 tickets are issued to passengers in backward journey.

39. If the bus breaks down between the stages C & D , the amount refunded to passengers.

40. If the ticket costs Rs.1.50, how much is the profit in Backward journey.


Remaining 4 questions may be fron English.

1)At 6'o clock clock ticks 6 times. The time between first and last ticks was 30sec. How much time it takes at 12'o clock.

Ans. 66 sec. 2 marks.

2)Three friends divided some bullets equally. After all of them shot 4 bullets the total no.of remaining bullets is equal to that of one has after division. Find the original number divided.
Ans. x x x

x-4 x-4 x-4
3x-12 = x
x= 6
Ans is 18 2 marks

3) A ship went on a voyage after 180 miles a plane statrted with 10 times speed that of the ship. Find the distance when they meet from starting point.
Ans. 180 + (x/10) = x

x = 20
Ans is 180+20 2 marks

4) Fill the empty slots.
played won lost draw Goals for Goals against
A 2 2 *0 *0 *7 1
B 2 *0 *1 1 2 4
C 2 *0 *1 *1 3 7

the slots with stars are answers. 4 marks
BC drew with 2-2
A won on B by 2-0
a won on C by 5-1

5) There are 3 societies a,b,c. a lent tractors to b and c as many as they had. After some time b gave as many tractors to a and c as many as they have. After sometime c did the same thing. At the end of this transaction each one of them had 24. Find the tractors each orginally had.
Ans a had 39 b had 21 c had 12 4 marks

6) There N stations on a railroad. After adding x stations 46 additional tickets have to be printed. Find N and X.
Ans. let N(N-1) = t;
(N+x)(N+x-1) = t+46;
trail and error method x=2 and N=11 4 marks

7)Given that April 1 is tuesday. a,b,c are 3 persons told that their farewell party was on
a - may 8, thursday
b - may 10,tuesday
c - june 8, friday

Out of a,b,c one is only correct one of the regarding month,day,date. Other told two correct and the third person told all wrong.What is correct date,month,day. 5 marks

8)There are 4 parties. df,gs,dl(depositloss),ew ran for a contest.
Anup,Sujit,John made the following statements regarding results.
Anup said either df or ew will definitely win
sujit said he is confident that df will not win
John said he is confident that neither ew nor dl will win
the result has come. only one of the above three has made a correct statement. Who has made the correct statement and who has won the contest. 5 marks. 

9)Five people a,b,c,d,e are related to each other. Four of them make one true statement each as follows.
i) b is my father's brother. (ans. d said this)
ii)e is my mother-in-law. ( b )
iii)c is my son-in-law's brother. ( e )
iv)a is my brother's wife. (c)

10 marks.

10) All members of d are also members of a
All '' e '' d
all '' c '' both a and b
not all '' a are members of d
not all '' d '' e

a)which of all following statements must be true
1) there are more common members between c and a than between c and e
2) there are more members in a than in c
3) there are more members in a than in e

i) 1 only  ii) 3 only  iii) 1,2 only  iv) 2 and 3 only  v)1,2,3

b)which of all the following can be inferred from the statements above
1)some members of d are also members of b
2)all members of e are members of a
3)all members of a are members of b
4)some members of d are not members of c
5)all members of b are members of c

i) 1 only  ii) 3 only  iii)2 only  iv) b and d only  v)d,b and a only

d)Which of the following is not possible
i)some members of e are also members of c but are not members of b
ii) '' '' d '' '''' both c and b
iii)all '' e '' '' a
iv)some '' d are not '' a
v) '' e are '' b
1) i only  2) iii only  3) i and iii only  4) all the above 5)none

e)if all members of b are also members of c then
i) all members of a are also members of b
ii)all '' '' c
iii) '' b ''' a
iv) some members c '' e and b
v) '' '' d and b
1) ii only  2) iii and iv only  3) iii only  4) ii and iv only  5)none

11) boys are allowed to watch football at c.v.Raman auditorium subjected to conditions.
i)the boy over age 16 can wear overcoat
ii)no boy over age 15 can wear cap
iii)to watch the football either he has to wear overcoat or cap or both
iv) a boy with an umberella or above 16 or both cannot wear sweater.
v) boys must either not watch football or wear sweater.

Which of the following is true

a) Old and new have the same i-node number ,2
b) old and new have the same i-node number ,15768
c) old and new have nothing to do with each other
d) very old and new are linked
e) veryold and old are linked

Which of the following is true about fork ()
a) It transforms an executable binary file into a process

Which of the following is true about fork ()

a) It transforms an executable binary file into a process that overlays the process which made the fork () system call. No new proces is created Ans B;
b) Causes the creation of a new process the CHILD process with a new process ID.
c) Causes the creation of a new process, the child process with the same process ID as the parent d) fork() has nothing to do with processes.
e) fork() is not a system call


which message is displayed when a window is destroyed

a)WM-CLOSE  B)WM-DESTROY  C)WM-NCDESTROY  D)WM-POST DESTROY

ans: check your self may be B

what is meant by SEND MESSAGE AND POST MESSAGE

ans:we don't know

which is the message used to limit the size of the window

a)WM-SIZE B)WM-RAWT C)WM-GETMINIMAX INFO D)WM-COMMAND

E)WM-CREATE

until |who|grep mary
do
step 60
done

a)is syntactically correct
b)waits 60 sec. irrespective of mary being logged in or not
c)waits until mary is logged in
d)waits till mary exists
e)none

ans:C

the unix system call that transform an executable binary file into a process:
Ans: we don't know

fork() is a system call causes

ans: causes the creation of a new process , the child person with a new process ID


main()
{
char *x="string"
char y[]="add";
char *z;
z=(char *) malloc(sizeof(x)+size of(y)+1)
strcpy(z,y);
strcat(z,x);
printf("%s+%s=%s",y,x,z);
}

ans:Add+string=addstring (if it is in caps also true)

char *(*(*a[n]())();

ans:d)an array of n pointers to functions returning pointers to functins returning pointers to charecters

interprocess command in unix be achieved by

a)pipes  b)messages  c)semaphores  d)shared memory  e)all 

i Gate Placement Paper Pattern

[Paper - 1]

Total 6 sections.

1)Computer Fundamentals
2)Algorithms
3)Hardware
4)Software
5)General Awareness
6)Languages

All together 60 questions with each section containing 10 questions.
All are multiple choice questions

1. One Nibble = ?

2. Hexadecimal and Octal representation of 1024 ?

3. What a compiler does ?

4. DOS ? (whether Graphical interface or Character interface and two more choices are given)

5. CPU - abbrevation

6. Fortran used as ( Ans : Scientific Language)

7. ASCII character set ? (total number)

8. Windows NT- What NT stands for?

9. Which is not an input device ? (keyboard, Disk, Mouse,Lightpen)

10. Which is not a pointing device ?( mouse,Joy stick,lightpen none)

11. Microsoft Chief ?

12. 4GL ? (Fortran,SQL,ADA, ....)

13. Father of Computers?

14. Which of them is Object Oriented Language.?

15. Power PC is the product of ? (Microsoft,IBM,Apple,Motorola,Intel) (A combination of any correct 3 companies)

16. Latest processor used ? (Pentium, Power PC, Pentium pro,none)

17. MS Word is ?

18. First Super Computer built in India. (Ans : param)

19. Which of the following companies donot manufacture chips?
(Microsoft, Motorola, Intel, HP)

20. LAN - abbrevation

21. WAN - abbrevation

22. Modem is ? (related to electrical hardware.- Like Modulator &demodulator)

23. FDD - abbrevation ( floppy Disc drive)

24. BIT - abbrevation

25. Information is ? (message, data,processed data,none)

26. Which is not networking ?(internet, Ethernet, arcnet,none)

27. One Gigabyte =?( 2 power30 , 2 power 20 ,2 power 10 none)

28. Which of the following is not RDBMS ? (sybase, SQL,Acess,none)_

29. Oracle is ? (Ans : Relationasl Data Base Management System)

30. In Oracle, Table means ( Ans : Collection of records)

31. DMA - abbrevation (Direct Memory Access,Discrete memory Access, Disk memoryaccess)

32. What is meant byStatic Variable ?

33. What is meant by QUEUE? {refer any data structures text}

34. What is meant by STACK? {refer any data structures text}

35. The processor used in first IBM PC? (8086,8088,zig4,intel)

36. Difference between 80286 and 80287

37. In bubble sort , no. of comparisons required ?(ans : formula : N*(N-1)/2)

38. No. of comparisons of an item in 100 items by binary comparison?
( 10,25,50 100)

39. CRT - (Cathode Ray Tube)

40. No. of entryvalues are there in ideally in a subroutine.

41. Binary tree?

42. Flow in one direction ? (Single linked list,Double linked list,.......,....)

43. Electron screen size ? (here, 2 lines of algorithm is given. Name the algoirithm)

44. Which is not storage device.? (printer,CD ROM,Disk,none)

45. A question regarding memory ? ( least used memory,recently unused memory,..)

46. ISO - (International Standard Organisation)

47. HTML - (Hyper Text Makeup Language)

48. Flow chart for factorial N? (ans :choice a)

49. What is meant by Recursion ?

50. Struct(s)
{
int a;
long b;
}
Union (u)
{int a;
long b;
}
Print sizeof(s)and sizeof(u) if sizeof(int)=4 and sizeof(long)=4

51.Switch (i)
i=1;
case 1
i++;
case 2
++i;
break; ( ans : 1,2,3,none)
case 3
--i;
Output of i after executing the program

52. char S;
char S[6]= " HELLO";
printf("%s ",S[6]);

output of the above program ? (0, ASCII 0, I,unpredictable)

53. Unsigned char c;
for ( c=0;c!=256;c++2)
printf("%d",c);

No. of times the loop is executed ? (127,128,256,infinitely)

54. int i;
i=0;
repeat
i=i+1; <====== PASCAL PROGRAM
print i;
until(i<10)
end
No. of times the loop is executed?

55. Convert (int A,var ,int B;int c)
{
A=10;
B=4-;
C=120;
}
Convert (inta,b,c)
{ <====== PASCAL PROGRAM
a=1;
b=4;
c=12;
}
convert (A,B,c) ? (10,40,120
10,40,12,..........,............)

